RESOLUTION NO. 6-93 CITY OF CENTERVILLE, OHIO

SPONSORED BY	COUNCILMEMBER	James Singer	ON THE
(541)	DAY OF_	February	, 1993.

A RESOLUTION ACCEPTING THE BID OF TdM CONSTRUCTION COMPANY INC., FOR THE 1993 POINCIANA DRIVE RECONSTRUCTION PROJECT IN THE CITY OF CENTERVILLE AND TO AUTHORIZE THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City advertised for bidders for the reconstruction of a portion of Poinciana Drive in the City of Centerville, pursuant to specifications prepared by the City; and

WHEREAS, TdM Construction Company Inc., was the lowest and best bidder;

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

SECTION 1. The bid of TdM Construction Company Inc., in the amount of \$26,416.84, marked Exhibit "A" attached hereto and made a part hereof is hereby accepted and the City Manager is hereby authorized and directed to enter into any necessary contract to evidence acceptance of said bid and to make payment pursuant thereto.

SECTION 2. This Resolution shall become effective at the earliest date allowed by law.

PASSED this 12th day of February,
Mayor of the City of Centerville, Ohio
Clerk of the Council of the City of Centerville, Ohio
CERTIFICATE
The undersigned, Clerk of the Council of the City of Centerville, Ohio, hereby certifies that the foregoing is a true and correct copy of Resolution Number 6-93, passed by the Council of the City of Centerville, Ohio, on the 65th day of 1993.
Clerk of Council
Approved as to form, consistency with the Charter and Constitutional Provisions. Department of Law Robert N. Farquhar Municipal Attorney

BIDDERS PROPOSAL

POINCIANA DRIVE RECONSTRUCTION

Submi	itted by:	Construction	Company	INC.
	OI EA	of Richellou	Road	
	Cente	wille, chio	4/54/59	
Havi	ng read the specificati	ons and examined	the drawings en	titled:
		ive Reconstructio erville, Ohio	n	
of sadder	ared by Reinke & Associated project in Centervilled issued, the undersign arms as specific as shown in the Plans f	lle, Ohio, and have gned hereby propose ecified and descr	ing also taken sed to furnish a ibed in the sai	into account all all materials and d Specifications
A.	STATEMENT BY ALL BIDDE	RS:		
	The receipt of the fold and specifications) is	lowing Addenda to hereafter acknow	the Contract Do ledged.	ocument (drawings
	Addenda No.	Date _		
	Addenda No.	Date _		
	Addenda No.	Date _		
В.	CONSTRUCTION COST INFO The bid shall be broker sum of all items.	RMATION (breakdown down as follows	n required) and the grand t	otal shall be the
	DESCRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
-	PAVEMENT			
	1 1/2" Asphalt Concrete Sur Course	face 798 SY	\$ <u> 2.91</u>	s <u>2,322.18</u>
402	1 1/2" Asphalt Concrete Leveling Surface	798 SY	s_2.67	\$2,130.66
408 B	ituminous Prime Coat @ 0.5	GAL/SY 399 GAL	s_1,00	\$ 399.00

DESCRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
304 Aggregate Base 10" Thick (2 - 5" Courses)	798 SY	s 7.00	\$ <u>5.586.00</u>
203 Subgrade Compaction	874 SY	s 1.00	\$ 874.00
609 Concrete Curb and Gutter Incl. Aggregate Under and to 6" Behind Curb	275 LF	s_/3.00	\$ <u>3,575.00</u>
Remove Existing Curb	275 LF	s 4.00	\$ 1.100.00
Excavation (Remove Existing Asphalt Pavement and Subgrade)	428 CY	\$_10.50	<u>\$ 4,494.00</u>
Excavation (Remove Existing Concrete Drive and Subgrade)	22 CY	s 12.00	\$ 26400
Concrete Drive Pavement	93 SY	s <u>24.00</u>	<u>00.656,6 </u>
Bituminous Seal - Edge both Curbs and Pavement Butt	680 LF	s 0.50	\$ 340.00
TOTAL PAVEMEN	NT		593,310,84
MISCELLANEOUS		5200	
Adjust Top Sanitary Manholes	2 EA	s 400.00	\$ 800.00
Seed/Mulch Disturbed Areas including Topsoil	LUMP SUM	\$ 900.00	\$ 800.00
Restoration, Landscaping, Post Lighting, etc.	LUMP SUM	\$ 1500.00	\$ 1500.00
TOTAL MISCELLANEOU	US		\$3,100.00
GRAND TOTA	AL.		\$ 36,416.84
Alternate #1 Lower Existing Water Service	1 EA	s 400.00	s_400.00
Alternate #2 Replace & Lower Existing Water Service 1 RA		\$500.00	\$ 500.00
Alternate #3 Sod Disturbed Areas including Topsoil (Deduct above quantity for Seed/Mulch) TOTAL	LUMP SUM LUMP SUM ALTERNATES		\$ 1,500.00 (\$ 800.00 \$3.400.00
GRAND TOTAL WITE	ALTERNATES		\$28,816.84

c.	COMPLETION DATE INFORMATION				
٠.	The bid price reflected above represents a completion date of May 14, 1993. If an alternate completion date is proposed, it shall be specified hereafter.				
	ALTERNATE COMPLETION DATE				
D.	CONTRACT PREPARATION INFORMATION				
	The bidder shall supplement proposal by supplying the following information for use in the preparation of the Contract.				
	NAME OF COMPANY/CORPORATION: Id h Const Co. Inc.				
	NAME OF PRESIDENT: Sames MAUREE				
	ADDRESS: 2/ East Rule way Road				
	CITY, STATE, ZIP Centerville 1814 in 45459				
	FEDERAL TAX I.D. #: 31-095-1376				
	TELEPHONE #: 5/3/ 4/33 - 5/3/3/				
	FAX #: 433-8472				
	EXECUTION OF PROPOSAL				
NOTE	: Failure to sign proposal shall result in rejection of bid.				
	THIS PROPOSAL SUBMITTED BY:				
	tolyn Const Contrac.				
	(NAME OF CONTRACTOR)				
	(SIGNATURE OF CONTRACTOR OR AUTHORIZED REPRESENTATIVE)				
	DATE: _2/11/93				
Cont	act person for Contract processing: BARDY Potts				
Mail	ing address if different from above:				